SHISEELR GESS SHI3ESH 58 A&t 356 A 68 Rit
7 1A #E XTRITEELE e XTRTEELE ¥ E XTRTEELE ¥ E SR LE H = SR L H = STHIELE
kg % kg % kg % kg % kg % kg %
I % 3,482,624 102.8 3,482,624 102.8 3,170,009 120.0 6,652,633 110.3 3,605,114 116.3 | 10,257,747 112.4
NIN—H—I18T~« 2% 0| ——- 0| ———- 0| ———- 0| —— 0| —— 0| ——
& i 3,482,624 102.8 3,482,624 102.8 3,170,009 120.0 6,652,633 110.3 3,605,114 116.3 | 10,257,747 112.4
L #% 0| ——- 0| ——- of ———- of ——— of ——— of ———
FILRNIN—T RTF—F z 129,731 129,731 132,803 88.2 262,534 89.9 134,731 100.4 397,265 93.2
& &t 129,731 129,731 132,803 88.2 262,534 89.9 134,731 100.4 397,265 93.2
I % o ———- of —- of —— of —— of —— of ——
FILEE—rHR—IL z % 312 0.0 312 0.0 413 0.0 725 0.0 206 0.0 931 0.0
& i 312 | ———- 312 | ————- 13| —— 725 | ————— 206 | ————- 931 | ———




SH3ETH 78 REt L34 H F3E9A 9f Rt

8% 1A ¥} = SETELL ¥ E RETELE = SETEELE SETE L SETE L = SETEELE

kg % kg % kg % % % %
s 3,623,509 119.7 | 13,881,256 1142
INVIN—H—IXT1 1z 0 — 0 N
=) 3,623,509 119.7 | 13,881,256 114.2
+ of —— 0 —
FILRNVNR—FRT—% |42 130,200 90.0 527,465 92.4
& 130,200 90.0 527,465 92.4
s of ———- 0 —
FIILFET—hFR—)L £ 413 0.0 1,344 0.0
=) 413 | ——- 1,344 ————




SH3E10R 108 R&t SH3E11H NEGER SF34E12H 128 B85t

% o= STRTEELE #H = STRITEE L #H = STRITEE L #H = STRITEE L M= STRITEE L M= SR L

kg % kg % kg % kg % kg % kg %
I %
INIIN—F—I8TF 4 E O
& i
+ %
FILRNYN—TRTF—F% |8 #
& &t
I %
FILEE—hR—)L z %

=1




SHAE1H 18 Bit 4528 2B Rt SFA4E3 P REESS

% = STRTEELE =2 STRITEE L = STRITEE L #H =2 STRITEE L H = STRITEE L #H = SR L

kg % kg % kg % kg % kg % kg %
I %
NDIN—H—I\T4 2%
& i
+ %
FILRNYN—TRTF—F% |8 #
& &t
I %
FILEE—hR—)L = %

=1




